A& 1

\‘ &
B SRS RAITERE D FE R
1. EARSA R OBRIEEESSE
S
G B ” KTAIE |
e B | e s/ R - DNTRIRE | A PR
g | O | HE o ' R | @B
@ | @
P 10 0.2 0.2 FEEES ARG S 10 10
‘ P T | MT ) LT LT
2.5 1.0 1.0 _ 20 20
1 DI T | MT Ak P P
2.0 10 10 _ 30 30
2 DI UTF | MT Ak P P
2.0 20 20 _ 40 40
3 DI UF | HT Ak P P
L. BRI E LR TR SO DA, B RO N R
2. BEEEORRIIEEESE
@B | MK Sy | AERRIE TR (k) TR E R S/ NS ()
PR 300 1 +(5m+1X10°-D)LT 1
e
FEREE [ +0.2mm+1X 10°%« D)LLF 0.1
IR 1000 +(5m+1X10°-D)LT 1
1
HEEEfE 6L +(5m+2X10% D)LTF 1
HEREfE 2L F +(5m+5X10%-D)LLF 1
2
4 PR 10k +(5m+5X10°-D)LT 1

7ZiZL, DIFAVEREE (km) &5,

3. FM—RILAT— 3> DRGItERED 4R

M= VAT — a OIS, I, REEOAR KR O — Z RLIEEE AV D,

@ | R 4y BT OERE BIREEBOMERE 7 p A
1 | BRI MOUETS | 2 BRI e
N . F—KalL X
A 2 PR R S | C 7
2 oA KT A MHESP S f%UWj%f
e T e SIS
3 — | 3EARIA MOETS | 2R T




4. LR)LOFRRIERED SR

Loy, EITE U OKERIR BB R A T 5,

1) &AL~
e | o FRE | MMRaE
@ B Eﬁﬁf a2 (Ef’%‘ﬁ S| omE | owEE | B B
m - P Gy BED)
1 3.0 LT 0.1 FE LR 10 LI 5LF 1A AT
ok e
H Y | ARAEGH
HOHHE 2 A5 %
2 2.5 IR 1 i 20 LI'F 10 AR ¢
3 2.5 UUT —_— —_— 40 LT 10 LR —
2) (BEILAIL)
- \ HEREIEE | O
= \ 3 SN E:E:. . . - ) o
@ B ﬁfﬁ e (ni) B e 1w | mowmae | omeE | W o=
o () 4y F%)
\ i \ \ R
1 3.0 L 0.1 0.4 L 8L
o B L AT L A
2 2.5 LI 1 = 0.8 LI 10 IR Cil
3 2.5 LI —_— — 1.6 LIT 10 LR —
3) [(BFLAIL)
e | e HEMEEE | PR
o | S RO | mammee | omme | w0 o®
WBE B | O ER)
T EE AL S N
\ iz k2 pEhEk \ \ Y TR
1 3.0 AT 0.01 TR % 473 2 0.4 LI'F 8LLIT HERAT % = b
L
2 2.5 LI 0.1 = 0.8 LI 10 IR Cil




5. JKEAZR DBA RS $E
H % Ry e ks
e | XSy oers DR ZARIN
o om Bo® | oBEmE | | gyam
10mm X} I5mmfH 5
A | s | mAm | ) Sm s~ o I
N—a— RHEK
1
1om Tl | oL 3
SN— % ~
B A R —)L /@Lﬁ_ﬂn}}éi& 100um/m | BALF 15 25 i
s e | 10mm3 35 200um/m | 4m N [IEX
2 T gsa—vEg | 0F | | PTB ) gons
6. GNSS JAIEHDBRAIIERE 58
vl AR oW 5 %
ABT A Tk
= BEAX T 4 > 71k
1 (L?H{fz) S P
N R T K
S hU—I7RIR TKE
ARBT A T
0 15 TREA R T 4 v 71k
(L1) RV T 4 v IIE
R T K &
R ETEOSERAERSE . AFRRE B O TN, TRO LB L35,

B o5 % INFRRITEREE ISFPRBIE FTRERERE | /IR
2R ZT 4 71k +(5m+1X10°D)LIF 10kmLA_I= 1 mm
1ES AR T 4> 71 +(10mn+2 X 10° - D)LIF 10kmPA 1mm
2 JEE BEAX T 4 v 71k + (10mm+2 X 10+ D)LLF 5kmPA T 1 mm
18 BREA X T 4 v 71k +(10mm+2 X 105+ D)LLF 5kmLA T 1mm
XX~T 4 IR +(20mm+ 2 X 10° - D)LLF — 1 mm
R T K & + (20mm+2 X 10° - D)LUUTF —_— 1 mm
S NU—ZRIR TKE +(20mm+2 X 105+ D)LLF — 1 mm

7ZiZL, DIFAVERAE km) &35,






